. L | - -
-la IERPFPo It =

. | %

o L~

“F K B

—— : “.'.___.i'____u___;._i_==__=_ﬁ___!-§ L

=

|
L] k

fiaw

= BN acll ™

e

. L
- Tk ’-.1—"' : r - 4850

L
!. J. - .
3 - _ —— . -
.y T — ! . :“"_ - e
TETRE e S - =
L —— o —
T T =N

i —

o

B

s S -

ALL IN

...I b ." " [ ‘I
W L i
W L) N I--r 4 L
£y i & "q, i ‘l J N [ i
& » A YA U %4 N ! \ "l- | 1"'-"

% ! . N n 4N 1:'1' 1 F f.- y
AV INTATARS 4N/ ‘k.t"*
ATV N AATAN NIV N

;.h’ ,‘.\ \ i\f"ﬁﬂait

A a;ii’

:1"5"

1
|h i
1

= = —=

// KITEFOIL — WINDFEME’T)(MECBLLECHQﬂ *-

MONO

DESIGN

T
\f%fitx (VD ‘fﬂ**’ |

'BRYBRIYER IS

.-.i'l.-l.h...;__' :’r'.,;‘*.
"p;\. AN BeRLLE

I""hj"?J"".'r'

YEVEY

‘H;w}'wwu
leﬂ...i e 0

A

ATAYAATAATATA

o Lo

*“5."

R



MONO

The Manta MONO is an all in one design and as a such is an extremely flexible foil!
With a single model you can either Kitefoil, Windfoil or Supfoil thanks to a smart front fuselage
exchangeable modules system.
The adjustable stabilizer system allow precise angle adjustment to obtain the best foiling balance
for each rider and activity.

Speed

carving Upwind

Speed

Accessibility

TECHNICAL DETAILS

carving Upwind

Accessibility

Speed

carving Upwind

EASYFLIGHT
SUPFOIL
KITEFOIL
WINDFOIL

Accessibility

N

\ WINDFOIL FREERIDLE
KITEFOIL FREERIDE A

.E-ci':. , ,-' f::" ;.:' TA ~ '
SO mAS QILs o

DFHa %&ﬁfﬁ Sons o //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION




CONIFIGURATIONS - OVERVIEW

Manta mono parts

The manta mono is offered in 4 configurations as follows:
1- All in one : Suitable for kitefoil, supfoil, windfoil

2- Kitefoll

3- Windfoll

4- SUPfoll

a I m
3
0

Easyflight all in one wing U

A,

Kitefoil freeride wing |

Windfoil freeride wing

stabilizer 90cm mast

65cm mast

Short fuselage

Mmee 0
Mme

Long fuselage

Front fuselage short

—EEE

Front fuselage long Tuttle load plate

11

Back fuselage spacer SCrews

Allen key

EVA Reinforced transport bag

-\

S Os e fon s //KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION

M



Short fuselage

0 Long fuselage
z
Easyflight all in one wing QO
Front fuselage short Front fuselage lon
| \:L 0 . . - Tuttle load plate
; d
¢ 0 o

Kitefoil freeride wing 4 — 5 TY

|
Back fuselage spacer SCrews

Windfoil freeride wing

CONIFIGURATIONS — ALL IN ONE

Allen key

stabilizer 90cm mast 65cm mast

EVA Reinforced transport bag

x= | Mﬁfﬂﬁ Sons e //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION




CONIFIGURATIONS - KITEFOIL

Easyflight all in one wing U

Kitefoil freeride wing

Windfoil freeride wing

stabilizer 90cm mast

65cm mast

Short fuselage

Long fuselage

Front fuselage short Front fuselage lon
. . - Tuttle load plate
.}ﬁ"“‘m "
s R
] %y )
: — | l{
Back fuselage spacer SCrews

Allen key

EVA Reinforced transport bag

x= | Mﬁfﬂﬁ Sons e //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION



Short fuselage

0 Long fuselage
z
Easyflight all in one wing QO
{ B —
Front fuselage short Front fuselage lon
| \:L . . - Tuttle load plate
3 =

Kitefoil freeride wing — h 5 TY

|
Back fuselage spacer SCrews

Windfoil freeride wing

stabilizer 90cm mast 65cm mast

CONFIGURATIONS - WINDIFOIL

Allen key

EVA Reinforced transport bag

x= | Mﬁfﬂﬁ Sons e //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION




CONIFIGURATIONS - SUIRPIFOIL

Easyflight all in one wing

Kitefoil freeride wing

Windfoil freeride wing

stabilizer

90cm mast

65cm mast

Short fuselage

Long fuselage

—  —

Front fuselage short Front fuselage long Tuttle load plat
uttle load plate

s i

e -L — ',

Back fuselage spacer SCrews

Allen key

EVA Reinforced transport bag

-

H_~ Mf'-“‘:?l-fﬁ Sons e //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION



DESIGN

e, - iR b L A

*picture shows typical parts. Each kit parts quantity varies according to it’s configuration and the above elements may not all be available in your kit

A // KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION

AA PH




0
Z
9,
I—
¥
.
i
l—
i
Z
;
@
2
a
0
Ty
<

<l

:
'

Q. Mﬁg—-"fﬁ SOis o //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION




10

Fuselage tail to fuselage connection ,Back wing to fuselage connection

2x M6x10 countersunk
1x M6x20 countersunk
1x M6x16 countersunk
2X 6mm washers to trim angle

1x M8x12 countersunk
~ 1x M8x16 countersunk

s Front wing to fuselage connection
/ 2x M8x20 countersunk

, Mast to fuselage connection
" 2x M8x60 socket
2x split washers

Tuttle head screw inserts — BKe

2Xx M6x16 grub screws
2x M6 round inserts 9mm dia

=~~~ Stabilizer spacers sets
Plate to mast connection ¢ 1x neutral

2x M8x20 button head il i b deren

ASSEMBLY INSTRUCTIONS

1x sandable (round end)

NOTE: each set is supplied with Teg-gel syringe. This gel is to be applied on each aluminum surface in contact
with stainless steel screw to prevent galvanic corrosion in salty environment (sea water).

M&;_-}T"-”" “Ois o //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION




ASSEMBLY INSTRUCTIONS

First, assemble your wing with the appropriate nose
Long nose for windfoil and supfoil, short one for kitefoll

A I

MAT OIS

11

// KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION



ASSEMBLY INSTIRUCTIONS

Next, assemble your back wing (stabilizer) with the tail fuselage element

A=
mA Lo s .«

12

// KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION



Next, assemble your back element with the fuselage part
There are 2 ways to trim the stabilizer angle:

- With the 2 screws only

- With 2 screws and one of spacer (+ washer if required)

- The spacers allow to have fixed angle memory

- The screws option will allow higher precision

- For most users the neutral spacer is best (non marked)

- We also provide a -1 degree spacer (more back foot pressure)

- A spacer that can be sanded by the user to tune his own angle. Sand the flat side of the spacer to reduce it’s thickness

)

e A

=
L

More angle = more lift = front leg loaded Neutral ore angle = balanced lift

stability

AM AT

A I

OnLs

—

r‘. — —

Less angle = more speed = back leg loaded

|
speed
L/

// KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION




14

Option 1: fixing angle by screws only

- Place the M6x16 screw on the back hole of fuselage tail

- Insert the tail and then screw the M6x20 screw from the outside

- The counter screw action (having screws against top skin of fuselage) set the angle

ASSEMBLY INSTRUCTIONS

M;ﬁ:‘.‘fﬂﬁ SSTEY // KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION




Option 2: fixing angle by screws and spacers

Place the spacer on fuselage tail, add washer if necessary to add angle
Insert the tail and then screw the 2 M6 screws from the outside

i ||||,'|"i|““|.'

17V 11 | i

| . |I|I|||II|I { | .
il| IIIII IJI |

ly

R M%”‘?ﬁTﬁ o s- // KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION




ASSEMBLY INSTIRUCTIONS

16

Next, assemble your front wing element with the fuselage. It is important to use the split washers to keep the foil tight at all times.

mﬁﬁTﬁ SSTEY // KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION



Fix the tuttle head inserts using the grab screws. Note that there is a flat side facing the screw.

=
-.-I"l-l = i
Ll "
g ¥ N .y .t, - ": "'-'l"'":p;' 'F"'
B T g W T . o el T B e oy . e el LD Py
i ) ¥ 5 e w
ALLERLL T L LAl L v SE L LY LTS LR AR e d LY

O
5
2
S
Z
:

ASSEMBLY INSTIRUCTIONS

N

QF M&Hffﬂﬂ-.ﬁﬂ__E < [/ KITEFOIL — WINDFOIL - SUPFOIL // 2018 COLLECTION




ASSEMBLY INSTRUCTIONS

|
I
(1AL
I
L2

18

Next, in you have a load plate (windfoil use mainly, not required for kitefoils or supfoils) pass it through the mast carefully to avoid scratches
It Is recommended to also the rubber sheet to protect board surface.

s M o
o

e

£H
sl St
Sie R

1]
2

-

H_~ Mf'-“‘:?l-fﬁ Sons e //KITEFOIL— WINDFOIL — SUPFOIL // 2018 COLLECTION



ASSEMBLY INSTRUCTIONS

Finally assemble the mast with the fuselage, tight well

A I

MAT OIS =

19

// KITEFOIL — WINDFOIL — SUPFOIL // 2018 COLLECTION



A I .
MAS OILs o

FUTUIRLE IS [FOILING




